INSTRUCTIONS:					TITLE OF INFORMATION COLLECTION DOCUMENT						
						rotection Reg			0579		
					DATE PF						
		1							August		
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS	ANNUAL	BURDEN	1			
	[RECORDS					
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORDKEEPERS	ANNUAL HOURS PER RECORDKEEPER		
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)		
11.2(e)	Information Requirements, Horse Related (Individual) (New)	APHIS 7077 or equivalent	1,638		32,760	0.020					
11.4(e)(2)	Written Identification, Dosage, and Purpose of Drugs or Other Medications Used, Applied, or Injected (Individual) (New)	None	1	1	1	0.250	1				
11.4(h)	Request for Reexamination and Testing of Detained Horse (Individual) (New)	None	1	1	1	0.080	1				
11.5(a)(1) and 11.23(a)	Access to and Inspection of Event Management Records (Business) (New)	None	20	1	20	1.000	20				
11.5(a)(1) and 11.23(a)	Access to and Inspection of Event Management Records (Not for profit) (New)	None	44	1	44	1.000	44				
11.7(b)	Request for Certification of DQP Program and Detailed Outline of Such a Program, Including Standards of Conduct and Procedures for Enforcing Such Standards (Business) (New)	None	1	1	1	16.000	16				
11.7(b)(2)(ii)	Request for Instructor (Business) (New)	None	3	1	3	0.170	1				
11.7(b)(2)(iv)	Notification of Clinics or Seminars (Business) (New)	None	1	1	1	0.750	1				
11.7(b)(3) and (c) (1)	Written Examination for DQP Candidates and ID Card (Third Party Disclosure) (Business) (New)	None	14	6	84	1.000	84				
	SUBTOTAL				32,915		823	0			
	TOTAL OF ALL PAGES				36,770		3,210	366			
	TOTAL										

COLUMNS F + I = OMB 831, 13b		37,136	3,374	
COLUMNS H + K = OMB 831, 13c				

INSTRUCTIONS:				ТГ	TLE OF INFORM	ATION COLLEC	TION DOCUME	NT	OME		
									0579		
					Horse P	rotection Reg	ulations		DATE PR		
		1	1						August 2		
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN							
				1	REPORTS				RECORDS		
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so	NO. OF	NO. OF RESPONSES PER	TOTAL ANNUAL	HOURS PER	TOTAL HOURS	NO. OF	ANNUAL HOURS PER		
(9 CFR)	DESCRIPTION	state)	RESPONDENTS	RESPONDENT	RESPONSES	RESPONSE	TOTAL HOURS	RECORDKEEPERS	RECORDKEEPER		
(A)	(B)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)		
11.7(b)(3) and (c) (1)	Written Examination for DQP Candidates and ID Card (Third Party Disclosure) (Individual) (New)	None	78	1	78	1.000	78	78	0		
11.7(c)(2) and (3)	List of DQPs and Notification to USDA of Changes to the List and Any Warnings or Revocations Issued to Any DQP (Business)	None	14	1	14	1.000	14				
11.7(d)(1)	DQP Records of Disqualified or Excused Horses (Individual)	None	25	24	600	0.250	150				
11.7(d)(2)	Reasons for Disqualification (Individual) (New)	None	25	24	600	0.080	48				
11.7(d)(3) and 11.21(d)	HIO Report of Violations (Business) (New)	None	14	12	168	3.000	504				
11.7(d)(4)	Trainer and Owner Notification of Horses Allegedly Found in Violation of the HPA or Regulations (Business)	None	7	85	595	0.500	298				
11.7(d)(6)	Continuing Education for DQPs (Business) (New)	None	7	1	7	8.000	56				
11.7(f)(1)	Certified DQP Program Written Warning to DQP of Unsatisfactory Performance (Business)	None	2	2	4	0.500	2				
11.7(f)(1)	Certified DQP Program Cancellation of DQP License After Warning (Business) (New)	None	1	1	1	0.500	1				
11.7(f)(1)	Request by DQP to Horse Industry Organization to Appeal License Cancellation (Individual) (New)	None	1	1	1	0.250	1				
11.7(f)(1)	Request by DQP to USDA to Appeal License Cancellation (Individual)	None	1	1	1	0.500	1				

SUBTOTAL		2,069	1,153	78	

NSTRUCTIONS:			TITLE OF INFORMATION COLLECTION DOCUMENT							
									0579	
					Horse P	rotection Reg	julations		DATE PR	
									August 2	
						ANNUAL	BURDEN			
IDENTIFICATION	I OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS				RECORDS	
ECTION OF REGS				NO. OF				NO. OF	ANNUAL HOURS	
(9 CFR)	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	RECORDKEEPERS	PER	
(0 0 1 1)					(Col. D x E)		(Col. F x G)			
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	
L1.7(g)	Appeal of Revocation (Business) (New)	None	1	1	1	4.000	4			
(g)	ppear of revocation (Basiless) (New)		-	-	-	4.000				
L1.20(b)(1)	DQP Access to Records (Business) (New)	None	86	1	86	1.000	86			
L1.20(b)(1)	DQP Access to Records (Not for Profit) (New)	None	188	1	188	1.000	188			
			200	_	200	2.000				
	Written Notification to USDA and Certified DQP									
L1.20(b)(1)	Programs by Event Management of Unsatisfactory DQP Performance (Business)	None	1	1	1	1.000	1			
	Unsatisfactory DQP Performance (Business)									
L1.20(b)(3)	Report of Sore Horses (Individual) (New)	None	25	24	600	0.250	150			
1.21(a)(4)	Report of Incidents (Individual) (New)	None	1	1	1	0.250	1			
	Departs of Events Containing Tennesses									
L1.22(a) and (d)	Records of Events Containing Tennessee Walking Horses or Racking Horses Maintained by	None	86	1	86	1.000	86	86	1	
	Management (Business)									
	Records of Events Containing Tennessee									
L1.22(a) and (d)	Walking Horses or Racking Horses Maintained by Management (Not for Profit)	None	188	1	188	1.000	188	188	1	
L1.22(b) and (c)	Providing Contact Information for Recordkeeper (Business) (New)	None	86	1	86	0.080	7			
	Providing Contact Information for Recordkeeper					0.000				
L1.22(b) and (c)	(Not for Profit) (New)	None	188	1	188	0.080	15			
L1.23(b)	Inspection of Horse Industry Organization Records (Business) (New)	None	14	1	14	0.250	4			

	SUBTOTAL				1,439		730	274	
INSTRUCTIONS:				TIT	TLE OF INFORM	ATION COLLEC	TION DOCUME	NT	OMB
									0579-
						DATE PR			
			1						August 2
IDENTIFICATION	OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL	BURDEN	i	
					REPORTS				RECORDS
SECTION OF REGS	DESCRIPTION	FORM NO's (if none, so state)	NO. OF RESPONDENTS	NO. OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES	HOURS PER RESPONSE	TOTAL HOURS	NO. OF RECORDKEEPERS	ANNUAL HOURS PER RECORDKEEPER
(A)	(В)	(C)	(D)	(E)	(Col. D x E) (F)	(G)	(Col. F x G) (H)	(1)	(J)
11.24(a)	Management Report to USDA of Any Regulated Horse Event Involving Tennessee Walking Horses or Racking Horses (Business) (New)	None	86		86	0.500	43		(5)
11.24(a)	Management Report to USDA of Any Regulated Horse Event Involving Tennessee Walking Horses or Racking Horses (Not for profit) (New)	None	188	1	188	0.500	94		
11.24(b)	Management Report to USDA of Any Regulated Horse Event Not Involving Tennessee Walking Horses or Racking Horses (Business) (New)	None	1	1	1	0.500	1		
11.25(a) and (c) and 11.41	Required Information in Rulebooks and Rulebook Submission (Business) (New)	None	14	1	14	2.000	28		
11.25(e)	Appeals and Reports (Business) (New)	None	1	1	1	0.500	1		
11.4	Reporting Requirements to APHIS upon Request Concerning Persons Involved in Transportation of Certain Horses (Individual)	None	1	1	1	0.170	1		
11.41	Certified DQP Program Quarterly Reports on Disciplinary Actions (Business)	None	14	4	56	6.000	336	14	2

SUBTOTAL		347	504	14	







